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Instructions/3asT:

1 The question paper consists of both Multiple Choice Questions and subjective type questions, The
general questions are given in PART -1 which is of 40 marks and subject specific questions are given
in PART -2 of 60 marks, consisting of section-A of 40 marks (40 questions of 1 mark each), section-B
of 12 marks (3 questions of 4 marks each) and section-C of 8 marks (1 question of 8 marks ). .
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2. In case of Multiple Choice Questions, each question is of 1 mark. There will be negative marking and
0.25 marks will be deducted for each wrong answer. ONLY ONE most appropriate answer for each

question from the given option (A,B,C,D) is to be encircled with Ball Pen against the question

number in the tabular form given on the next page. In case of more than one encircled answer, all the

marked answers will be ignored, and will be awarded zero marks for all such question/answers.
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3. Mobile Phones/Cellular Phones, Ear Phones, Laptop, Books, Notes and Electronics Watches with
facility of calculation, Calculators and Pagers or any other communication device, bags, etc. is strictly

prohibited inside the examination hall.
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PART -1

Multiple € hoice Questions (40 marks)

(Every correct answer: 1 mark, wrong ancwer: <0.25 marks, not attempted: 0 marks)

1;

The objectives of the Wild Life (protection; Act 1972 is

To preserve the biodiversity -

Protection and congervation of wild life

To maintain essential ecological and life supporting systems
A1l the above

Cowp

The first major environmental protection law promulgated in India was

Air Act

Water Act
Environmental Act
Motor vehicle At

oW

Methods used for softening water containing permanent hardness are

Lime soda process
Zeolite process
Reverse osmosis
All of the above

vowp

Which one is non luminous

A. Moon
B. sun
C. star
D. comet

|
In which one of the following sound travels fast

A. Solid
B, Air
C. Water

. Vacuum

Thinner particles responsible for deteriorating the air-quality resulting in the damage of vital
body organs are referred as PM

A. 20
B. 10
C. 2.5
D. 1
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igfh—dhr W (3 40)

(T WA I 1 3, T IO -0.25 Hb, AR AR Ry o4 O'HF)
1. 9+ Sitaer (wveton) fafaasr 1972 av s §
A. Sta Rfdvar w W == F [
B. STl Saet T avam 3 wvaror
e mﬂ%mmﬁﬁuﬁm&ﬁraﬁaﬂﬂmwﬁﬁﬁq—wmﬁ fore

D. 3w weft

2. N # TG UGl YHE TATIOT HedToT Hiefed o7
A. T TFE

B. Iv fafags

C. 9digror fafEgs

D. Hiex @t sfafage

3. EURN ANl arel el T FH ST § AU 39T U o are i ¥
A. g arEr gfsar

B. fSntemse wigsar

C. Ray e

D. 3WIFd waft

4. ®leT AT THHGR oT6T &
A. g

B. HIf

. TR

D. ey

5. efet@a & & as eafa o & amar & &
A. B

B. gar

C. 5

D. fa¥drer

6. FEaqUT QT & 3911 & FHwTeT T FWOT gaT B U IS F FAC HEAGR T T PM §
w7 wefi g §

A. 20

B. 10

C. 2.5

D. 1
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7. Transboundary pollution (or) Acid rain is caused by:

TOw

Hydrocarbon

Carbon dioxide

Carbon monoxide

Nitrogen oxide and sulphur dioxide

8. ‘Kyoto Protocol’, an agreement signed by various countries, is associated with

A.
B.
G
D.

Movement of hazardous waste

Deep Sea Oil and Mineral Exploration

Clean Environment and Climate Change

Building common food stock to save human beings from ity natural disaster

9. Which of the following are the key features of ‘National Ganga River Basin Authority
(NGRBA)*?

1. River basin is the unit of planning and management.

2. It spearheads the river conservation efforts at the national level.

3. One of the Chief Ministers of the States through which the Ganga flows becomes the
Chairman of NGRBA or rotation basis.

Select the correct Answer using the code given below.

oOw>

1 and 2 only
2 and 3 only
1 and 3 only
1.2 and 3

10. The heat of hydration of cement can be ‘educed by

A. reducing the proportions of C; A
B. increasing the proportions of  C; A and G3 8
C. increasing the fineness of cement

D. both (a) and (¢ )
where C: A and (5 S are tricalcium aluminate and tricalcium silicate respectively.

11. A feature "Bluetooth" now common in mohile phones gets its name from a
A. Chinese 10" Century King
B. UK Software Company
C. Greek Goddess
D. Danish 10" Century King
12. Which of the following is an insulator?

A.

B.
C.
D

Mica
Steel

Galvanized steel
Cadmium Copper
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. grearssd ewor (an) iy aiRerdr  &Ror g i
A. BTSSIRIE

B. T sE3fignEs

C. @ed AHTFHES

D. #EeIShH HiFarss HR gedi SRS

8. 't sieihrar, faffieet Qot o gEanetRa veh Fsiiar S[sr §37 &
A. TR HOTISE T HieTesT
B. @Y ERR e AR @fasr eayor
C. ¥ew gdiawvr 3R Seary aRace
D. ﬁﬁmaﬁmmqm-?fmwmaﬂamﬁéﬁﬁvmmmﬂﬁmm

9. ST A 7 IfFF HUME (vAehmeo)’ &Tm%&hﬁ?ﬁﬁd’rﬁ“’
1%%%3\1%%%@%1 i

2. I§ USE FeT I #AL) HIEIVT FARHT &7 Afed HT ¢ :
3ﬁ#mﬁu‘rﬁ#wﬁﬁnrmwﬁWWW¢WW1WWmewH
&l ST Bl ‘

A BT T HI3 &7 I9ANT FT WP IaT & gUA HY)

A. 1 3R 2 Fger

B. 2 3T 3 &y

C. 1 3 3 Faw

D. 1,2 3R 3

10. ¥ & greee & AT FA g wEHar
A(,M\E“Farqqmaframm

B. CiA 3R CyS& Heuid # gefa

cmﬁtaﬁrmﬁqaﬁ

D. & (A) 3T (C)

STET C3 A 3R C3 § A mﬁﬁmwﬁﬁzﬁa%mnﬁﬁw
11, METse Bl 7 3 Ua Hrel "segy” 3 § owe e e
A. 10 & Al & sl e |

B. J& HiFeda FHuel

C. i gt

D. 104t eraredr & afeer =

12. g7/ & Wi W1 UF FTeTn 87

A, ATSH
B. e

C. MAa358 Forel
D. ¥efiras siw
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13,

14,

15.

16.

17,

Rainbow is formed due to:

A. Scattering and refraction

B. internal reflection and dispersion

C. Reflection only

D. Diffraction and Reflection

Who amang the following has not won an Oscar?
A. A.R.Rahman

B. Satyajit Ray

C. BhanuAthaiya

D. Dev Patel

The Sun Temple is located at

A. Bhubaneshwar

B. Mahablipuram

C. Konark

D. Mathura

The gas used in artificial ripening of fruits is
A. Carbon dioxide

GET IT ON
Google Play

The Tropic of Cancer passes through the states of 1. Gujarat; 2. Jharkhand; 3. Assam; 4. Mizoram

B. Acetylene
C. Ethane
D. Oxygen

- A, 1,2and 4
B. land?2
C. 1,3and4
D. 1,2,3and4

18.

19.

20.

Out of the given alternatives, choose the one which best expresses the meaning of the word "Sultry":

A. Unpleasant

B. ll-smelling

C. Impure

D. Hotand sticky’

Select the correct meaning of the word "seminary"

A. Chapel

B. College

C. Convocation hail

D. Hostel ‘

Choose the option which is the antonym of the word "folly"
A. Wisdom

B. Antidote

C. Humility

D. Blame
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3. $EURY & defe T FROT

A. IO 3R ITade

B. 3afR& Wrade AR thera

C. qUadsl FHael

D. fEheer 3 gtads

14, Prafafaa & & fraer 3Ry a8 Sirar §7

A THN. @A

B. wegshd Y : ‘
C. e ik : d
D. ¢a 9¢dl : '
15. 9 Ay feud §

A. ¥aaRay

B. AT

C. FIUTH

D. #u

16. el & PIAA Tahal A IUAET HiY S arell HF

A. FlEe SEHTFHIEE

B. ufafees

C. 8

D. 3ifereftsrer

17. FSUThRAI ohdh YT Tl & AMCAH § QAR Gl § L ISR | 2. SRS, 3. 376, 4. fASIRA
A 1,2 3R 4

B. 1 3T 2

C. 1,3 3R 4

D.1,233a :
18. U a1v fsredt # @, @8 T SN "IAWGR AT I Y eFFd HCAT § "

A, 3

B. &AR-HgH

C. ey

D. 1 3t fgfaar -

19, "seminary" Use T TE HY oA

A. Chapel

B. College

C. Convocation hail

D. Hostel

20. 9% fasheT gl @Y "FOLLY" 2ree &l qafizrardr
A. Wisdom

B. Antidote

C. Humility

D. Blame
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21. Choose the option which is the antonym of the word "commend"
A. Criticize
B. Comment
C. Forsake
D. Dexterity ‘
22. In the following options, the word "break” is used in four different ways. Choose the option in which
the usage of the word is incorrect or inappropriate
A. After three hours of work, | am longing for a break.
B. My garment business has reached break-even.
C. She is still in a state of shock after the break-in.
D. Unable to face the pressure, Sarah had a break-up. -
23. In the following options, the word "blow" is used in four different ways. Choose the option in which
the usage of the word is incorrect or inappropriate
A. The hijackers threatened to blow up the plane if the government failed to concede to their
 demands. . '
B. Losing both her parents in quick succession was an insufferable blow to her.
C. The storm seems to be quite fierce, but I'm sure it will blow off by tomorrow.
D. Itisimmodest to blow your own trumpet.
24. A train X leaves station 'A’ at 3 p.m. and reaches station 'B' at 4:30 p.m., while another train Y leaves
station 'B' at 3:00 p.m. and reaches station 'A' at 4:00 p.m. These trains cross each other at: '

A. 3:30 p.m.
B. 3:20 p.m.
C. 3:40p.m.
D. 3:36p.m.

25. There are two urns. One contains two white balls and four red balls, the other contains three white
and nine red balls. All balls are of;the szme shape and size. From each urn, one ball is drawn. What is
the probability of getting both the balls of the same colour? ‘

A. 1/24
B. 7/12
c. 1/12
D. 1/2

26. P, Q and R are three consecutive odd numbers in ascending order. If the value of three times P is 3
less than two times R, find the value of R

A. 5
B. 7
C. 9
D. 11
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21. @¢ fadeq gof S "commend"ersg @1 GATAETE §
A. Criticize :
B. Comment | : R
C. Forsake :

D. Dexterity i : 0
22%%%%@"mewmmaﬂﬁﬁﬁmm%lﬁmgﬁ A
fSre# ereg 1 3UNT e AT HefAd & : ‘
A. &\ & et 6 arz, # v gw & AU 3YF g Q R TF ST
B. A URUA =qa@rT 34 3% 39 ¢ - g
C. s&-g1 & arg oY g wew & fEufa # ¥l

D.mmﬂm—mga‘nm,a’rmmﬂﬁmﬁh

23. freifaf@e Rdect &, uea "3g@T T AN H@r-3e alim § fhar o §) 9w AEew g o
S g & 39T e AT AT § :
A Gt o REeT # 3E A e & IR GRS A A TR a H A @

' B. 319e AG-AT S F W, Seg & 3qUTUEN H, 3ue A e waRaddiy 3PE (( Hew )

ar| o k

C. I HIET STHT o9l §, Afdher HY ThIA ¥ 6 ¥ Foer @ 33 A | LT
D. F 3 & & A I3 F AT T Ioh e
i 24 WEXFEQHAOSOOPM‘WM%W430PMWF&HB%WH@ %mﬁ?w :
iR 3 Y ®eUw BA) 3:00 &5 oI5 & ¥l 3 4:00 PM T T A" A Tg ST %ﬁiﬁ’ﬂ‘cﬁ-' '

qEY @ we ¥

A. 3:30 PM

B. 3:20 PM

C. 3:40 PM

D. 3:36 PM

25, awar?wﬁamﬁémwwfrdm%a@tﬂ?ﬁﬁmWﬂmﬂasﬁ%l

woy I e @ IR IR IHR F §1 AR W, v g die sl ¥ v @ G A Qe el @ xT
uTCed e T HHTEAT FAT E7 g o
A 1/24 -
B 7412

c. 1/12

D. 1/2 \

26. IR FA F p,0 IR R der fAvw G geler ) afe e o P o# A 2 IPT R A 3

FA g dr R & A 919

A 5
B. 7
cC. 9
D. 11 ¥ . R
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27. Pipe A can fill a tank in 10 hours,? and Pipe B can fill the same tank in 12 hours. Botk the pipes are

28,

29:

30.

A.

B.
C.
D

opened to fill the tank. After 3 hmfjrs, Pipe A is closed. Pipe B will fill the remaining part of the tank in:

5 hours
4 hours
5 hours and 24 minutes
3 hours

In a certain class, 72% of the students prefer cold coffee, and 44% prefer fruit juice. If each of them
. prefers cold coffee or fruit juice, and 48 students like botn, the total number of students in the class

is:

o0 ® >

240
200
300
250

Avessel contains a mixture of milk and water in the ratio of 5:3 respectively. How much of the mixture
must be siphoned off and replaced with water so that the mixture may ba half milk and half water.

5
6%

A part of monthly hostel charges is fixed, and the remaining depends on the number of days one has’
taken food in the mess. When a student A takes food for 20 days, she has to pay Rs. 1000 as hostel
charges, whereas a student B, who takes food for 26 days, pays Rs. 1180 as hostel charges. Find the
fixed charges, and the cost of food per day.

A.

B.
C.
D

400, 40
400, 30
300, 30
200, 20

10
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27. 9157 A 10 ¢ # ¥ SR Tehat &, 3R aisT B 3T & Y 12 € H HY Ghar &1 EF S oS &
faT 2t grew @ oo ¥ 3 9 & a1, UET A d¢ &1 UEY B ¥R F AW HT Y HY

A. 91T g2

B. O ©¢

C. 5 u¢ 3R 24 fAwe

D. e €

28. U fARET FHET A, 72% OIF ST 6T THG L ¢, T 44% Tl &7 1 GHe Al ¢ AR 3o
YA & 3 S AT Fell F [ GEHG ¥, AR 48 wE A el gHg ¥, A FET 7 ol d Her
TEAT &
A. 240
B. 200

C. 300
D. 250

29. U &l H FHAA: 5:3 & Iured A gqur AT arel H0 Waor §1 Aaor s e ear fshrer s
TIfEC HR arell & sger far siem wifge aifss fAsor amur gy 3R 3er g g7
A 6> |

6

30, e geed et @ va fRear au B o ¥, 3t Y sle A At e i dear Wi
FAT &I ST HIE ©F € 20 A g@ s Qe § @ 3§ oHEw & §9 7 1000 T9T & I

AT EAT ¥, STl T o St 26 Rt ¥ AU siow AT ¥, 3 o & w0 # 1180 T &
ST AT ¥1 | REE e, IR Sfafe sieh B ere urd) :

A. 400, 40
B. 400, 30
C. 300, 30
D. 200, 20

11
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Directions (Questions 31-33): These questions are based on the following information:

31.

32.

33

34.

=

Seven villages A, B, C, D, E, F and G are situated as follows:
Eis 2 km to the west of B

Fis 2 km to the north of A

Cis 1 km to the west of A

D is 2 km to the south of G

G is 2 km to the east of C

D is exactly in the middle of B and E.

A is in the middle of:

A. EandC
B. FandE
C. FandG
D. GandC

Which two villages are the farthest from one another?

How far is E from F (in km) as the crow flies?

A. DandC
B. FandE
C. FandB
D. GandE

A 4

B. V20
C 5

D. V26

GET IT ON
Google Play

In a certain code, ROUTINE is written as VMRGFLI. How will CRUELTY be written in that code language?

A. VOCVZRL
B. VPCVZRL
C. BGOVFIX
D. WPCVZRL

How many pairs of letters are there in the word ADVERTISE each of which has as many letters between
them in the word as they have in the English alphabet?

A. None
B. One
C. Two
D. Three

12
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anferder (weer 31-33): ¥ wee fovest SRy o renRe &

Freg e ©, @ 9 S, vw 3R ol e e
Sdt & afmw # 2 T @

UH U & I H 2 el §
HoFoRgr 71 B §

& S & gfEor & 2 el @

S & g # 2 el &

a Roger & AR $ & T A g

3l cdwdE:

A & 3R

B. uw 3R §

C. 3R S

D. S 3R &

32. HleT ¥ & T UEH gEY W HEH g &7
A. & 3R &

B. U 3T &

C. TF AR &

D. & 3 &

33, #tar 38 & e & vw (Bl #) @ § fRael gy 7
A 4

B. V20

c &

D. V26

34, o faf@aa @1z &, ROUTINE #F VMRGFLI & &9 3 for@r Sirer &1 39 &Is e A CRUELTY &H®
for@r amean?

A. VOCVZRL

B. VPCVZRL

C. BGOVFIX
D. WPCVZRL

35 ADVERTISE 2rse 37 el o8 3rer & ot & wedws ois & it 3a=r & e § oo #
IS guiETET # e & o &7
A. HE T

B. T&

c. =
D. o=

13
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36. '1'is subtracted from each odd digit and '1'is added to each even digit in the number 5249836. Which
of the following will be the difference between the third digit from the left and the third digit from
the right of the new number thus formed?

A 4
B. 5
Cy 3
D. 2

37. Consider the following statements regarding 'Earth Hour": 1. It is an initiative of UNEP and UNESCO;
2. It is a movement in which the partnnpants switch off the lights for one hour on a certain day every
year; 3. It is a movement to ra|se the awareness about the climate change and the need to save the
planet. Which of the statements given above is/are correct?

A, 1and3anly |

B. 2only
€. 2and3only
D. 1,2and3

38 With reference to 'Global Environment Facility', which of the following statements is/are correct?
A. It serves as financial mechanism for 'Convention on Biological Diversity’ and 'United
Nations Framework Convention on Climate Change'
‘B. It undertakes scientific research on environmental issues at global level
C. It is an agency under OECD to facilitate the transfer of technology and funds to
underdeveloped countries with specific aim to protect their environment
D. BothAandB
39. With reference to 'Eco-Sensitive Zones', which of the following statements is/are correct: 1. Eco-
Sensitive Zones are the areas that are declared under the Wildlife (Protection) Act, 1972; 2. The
purpose of the declaration of Eco-Sensitive Zones is to prohibit all kinds of human activities in those
zones except agriculture. Select the correct answer using the code given below:
A. 1lonly
B. Zonly
C. Bothland2
D. Neither 1 nor?2
40. 'Bio Carbon Fund Initiative for Sustainable Forest Landscapes' is managed by the
A. Asian Development 3ank '
B. International Monetary Fund
C. United Nations Environment Programme
D. World Bank

14
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5. HGAT 5249836 # '1' Vel TAWH 3id & werdr Sier § AT 'L yeld "H 3 7 e o Sirar
¥ Pfaf@a FF Fl ' 7 gew F e & fOy 3w 3K g ¥ ey 3w & D 3aw Qe ?
A.
B
G

LO S N N

D. 2

37. gy 1 WA & AR F EATai@d saE W AR A1 9F guagdr 3 gaer i uge ¥ 2.
Ug U Hiaes ¢ forad gfasnfial & &7 g v @Reg B 9t v g2 & oo Qe &g &1 & §
3. 9% Sierary IREce 3R T F1 Fant f g & a F TETESdT sge & U uh e g
FuY BU v gu= & 9§ Sl @ @l 8

A. 1 3R 3 %ad

B. 2 Hae

C. 2 3K 3 &ad

D. 1,2 3 3

38, "4Rae ydERoT Glawr & e 7, Wetaf@d #§ ¥ #la @1 wua adr i

A. Tg Sifaw Ry W aeea’ 3R Sy 9R@ds W EgFT g ead Fedee & o G
T F ®G F @ I g

B. gg dfash wav W ydiaroiy segl v danfae Iepeene St §

C. WEOECD & g Ueh Uil § Sif Huel wdiawer f & & e e sedeg & ary ywisiaa
QR @l Sl faehT 3R oot gEaicRoT & A gareT Hd 8| |

D. A 3R B g

3. 'gH-AART o' &7 Wt o, Moifof@er # & Fher @1 Foeret Wl ¥ 1. ORTPARR-HITRE 8
aegalta (EXaTo) HffAgw, 1972 & ded af¥a e aw &7 §; 2. gaieror-wdeeiier aiar @ aior
wmwmﬁ"aﬁmmﬂaﬁﬁmﬁmﬁmnﬁﬁﬁmﬁqﬁﬂaw%lEﬁi‘fﬁ‘ﬂ“m
IS @ IYLNET T HEl 3T 6l T L =

A. 1 Hae

B. 2 &dad

C. 1 3T 2 gt

D. #ar1 3k ad2

40. 'wad g aiteedt & v Sta w1 BF ugd 1 vaue B srar i
A. TR fey dF

B. 3Hadvdra aar Iy

C. WgF US¢ AT HIdsha

D. dcs
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Part-2 |
CHEMISTRY

Section A: Multiple Choice Questions (40 marks)

(Every correct answer: 1 mark, wrong anawer: -0.25 marks, not attempted:0 marks)

41,

42.

43,

44,

45.

46.

47.

48.

In which year UN Conference on Environment at Stockholm (Sweden) was held?

A. 1982 B. 1986

C. 1970 D. 1972

Which of the following is/are secondary pollutant(s)?
A. Sulphur dioxide B. Hydrocarbons
C.Peroxyacetyl nitrate D. All of thess

The degradation of environmental pollutants by living microorganisms is known as
A.Nanoremediation B.Chemremediation
C. Bioremediation D. None of these

Which is the major sink for the atmospheric CO2?

A. Oceans B. Rivers :
C. Land D. None of these B e
When is the ‘World Environment Day’ celebrated every year?

A July 11 B. September 5

C. December 11 D.June 5

The total dissolved solids (TDS) can be reduced by the following method

A.Distillation B.Reverse osmosis

C.lon exchange D. All of the above

Which of the following salt is responsible for temporary hardness of water?

A. Magnesium carbonate B. Magnesium sulphate ;

C. Calcium sulphate D. Calcium chloride

N, and O» are main constituents of air but these do not react with each other to form
oxides of nitrogen. Find the possible reason.

A.The reaction is endothermic and requires very high temperature

B.The reaction can be initiated only in presence of a catalyst

C.Oxides of nitrogen :are unstable

D. Nz and Os are unreactive

Page 16 and17
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T 2
W e
AT A AT 3T (40 37%)
(TR TET I 1 3, ITeT 3A: -0.25 ek, FATH AGT AT IRT: 0 3H)

41.mwm(m)ﬁwmww#gwwﬂmﬂﬂmﬁmwm

A.1982 B. 1986
C.1970 D. 1972
42, FFATa @ 7 & et | dhsdr Yeua g7 -
A. GoHT B. gesiehlelst
C. W fHeEsd agee D. 997 T |ef
43, e gawrohal @R TfaRoT YENUT T HAHAT FH T H SAT S §
A, AnRfEueE B. FRAfSTer
C. arnfEversT D, ZoT3 A HIE oY 76T
44, TRFHECRT HI3Y 2 & forw waw e i @ &
A. HETEPR B. Az
C. qfa D. §a1H W &1 e
45, gY TTeT ‘faea qLiaor Eaw HaAram Sarg?
A. el 11 B. A=t 5
C. 11 @ D. 53
46.Wmm(mﬁWW#wﬁmmW%
A. 3rEad B. RE@d swraafaw
C. ¥l TaHES D. 3udFd qaf
47, fatad & & @i a1 A8 g f Rl Ferar & fav SR 87
A. HeRae FElc ‘ B. AeNfaH Twehe
C. ¥feraw uothe D. HieerH FaAREs

48. Ny 3R O W%WW%WW‘M%WW%W#WE@T
& @y yfafar 78 s § gwfaa FReT @)
A.wﬁﬁwﬁm@ﬁm%ﬁ(ﬁﬂmwﬁm&mﬁi

B. wfafiar dae 3oRe i sufedfa & & & 5 @ ¢ |

C. ASeIS & 3FaEs AU §

D. Nz 3k O, 3uRadelg g
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49.  Photochemical smog occurs in warm, dry and sunny climate. Which of the following is

niot amongst the components of photochemical smog?

A.NO2 B.Os
C. 80 D. Unsaturated hydrocarbon
50.  What is the pH of acid rain?
A.More than 5.6 B.Less than 5.6
C. About 10.0 c. I;Icar 7.0
51.  GC isa promising technique in environmental analysis. What type of analysis it allows?
A. Only qualitative : B.Ouly quantitative

C. Both qualitative & quaatitative ~ D.None of these

52.  Which of the followiing cannot be used as adsorbent in Column adsorption

chromatography?
A. Magnesium oxide | B. Silica gel
C. Alumina D. Potassium permanganate

53.  Insea water, what is thf:; ideal Redfield ratio is maintained at any depth?

A. 1:1 B. 16:1
g3l D. 64:1
54, In which year, the Environmental (Protection) Act was enacted?
A. 1972 B. 1986
C. 1989 D. 1974
53, In which year, noise pollution has been inserted as pollution in the Air Act?
A. 1981 B. 1987
C. 1982 D. 2000
56.  The first of the major environmental protection act to be promulgated in India was:
A. Noise Pollution Rule B. Air Act
C. Environmental Act D.Water Act
37 During which stage of wastewater treatment are methanogenic microbes most
important?
A.Primary treatment B.Sludge digestion
C.Biological oxidation D.Secondary treatment
58.  Which one is suitable for bioaugmentation process? '
A.Using light for remediation B.Bioventing
C.Sludge removal D.Adding microbes to a cleanup site
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49, 71, 3 3R 4T AT ATCIEROT F WerhAwe g ¥ FEfafae & @ @l o
Frer TR Y ¥ ot F ¥ al R

A. NO; B. O3
C. 50, D. 3G gIgRIhlerat
50. UT@E &1feer &1 droe a1 g7

A. 5.6 7 3f0s . B.5.6UFH

C. T9T997 10.0 D.7.0F UTH

51. qafaTor oA & S UE eSS adelE 1 T8 O ueR @ faeeoT AT 87

A. Fdel IOMcHE B. Shael HTATCHS
C. il UTTcHe 3R ATHTAS D. Z7H W S Y 7TEr
52, TR 3 O Fle |7 Sierd AWOT HASITRr F saeivw d & F IUAT A¢ RAT

ST T B :

A, FTARITH FTarss B. fafe@rsrer

e D, He R warere
53. T & OTeAT oY, el oY RIS A e XSG I T ST T@T ST &
ALl B.16: 1

G 32:1 D.64:1
54, frer Y, gffavor (wwaor) faferasr sme) fohar o/ ar?

A 1972 B. 1986

C1989 D.1974

55. e @y, ek Y NOT ary FfAEeT 7 dguor & &9 H STeT I &7

A.1981 B. 1987

C.1982 . D. 2000
ss.wﬁugaqﬁawmﬁwaﬁhﬁwmqmqmﬁﬁﬁmmm
A. 2R SeyoT ferars B. arg yfafas

C. g wfafEasa D. star yfaf@Tes

57, HAFAISE STl 3UUR & e @01 F AUASAE FeFota Ol HAgeaqo 87
A. ST 399 B‘WW

C. e 3iterdiaoT D, AR 3R

58, Sifaer qafer wfhar & faw #la a@r sugFT &
A, 3TEIR & T G FT IR, FAT B, AR
C. Folol el D. TF FAANT HEE T YEASNG Sl
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a9,

60.

61.

62.

63.

64.

63.

66.

67.

Which  convention adopted for the protection of  ozone layer?
A. Vienna Convention B. Basel Convention

C. Montreal Protocol D. Stockhelm Convention

Basel Convention is mainly dealing with_ -
A. Biological diversity B. Hazardous wastes and their disposals
C. Persistent organic pollutants D. Ozone depleting

When algae grow on surface of water, it rprevenls

A. Access of bacteria in water B. Access of sunlight in water

C. Growth of fungi D. Growth of ferns and mosses

What is the cause of Blue baby syndrome?

A.Excess nitrate in drinking water

B.Excess sulphate in drinking water

C.Excess chlorine in drinking water

D.Excess fluorine in drinking water

With respect to water pollution, industria’, municipal sewage, treatment plants are

examples of .. vovvsssvan

A.Diffused sources B.Point Sources
C.Stationary Sources D.Line Sources
Holes are caused inthe ............... layer of atmosphere
A.lonosphere B. Stratosphere
C.Exosphere D. Troposphere
............ poisoning causes Minamata disease

A. Mercury B. Carbon

C. Sulphur D. Nitrogen

How many horizons are there in soils?

A. One B. Two

C. Three D. Four

What is the main reason for acid mine drainage?

A. Dirty gold mining B. Ground water
C. Soil erosion D! Granite mining

68 Why burning waste is not an acceptable practice of solid waste management?

A. Because it is very castly
B. Because it requires modern technologies
C. Because it causes several environmental issues

D. Because it requires lot of space
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SQ.WFHﬁWQFﬁFEﬂHWWmﬂTW

A. =T FeaereT B. S Hhea¢leT
C. Hifeerel Yielehlel ' D. TeTFaIH shedlel
60, HSl FHoalelel HTT T &, LACECRGIE
A. Sifae fafasar B. WelalTes HYfRIse 3R 3eteh e
C. TR Flelfoleh TGN D. 37SiteT aRor
61. 5 darel IRl A Helg 9 9T g, o U A ¥
A. T 3 S iy ag B.9TefT 1 Lot & URrelr oy g
C. &adh T gaftr D. et 3R A & gefe
62. so 9 FHZIA &1 FWoT AT R
A. 9157 & gl & 3R Agce B. 9ia¥ i g1t & 31faRera aethc
C. o= & greft & sfaRerd Fard D. 9= & 1= & Afaied reafier
63. 3ol WE T, 3Me e, ATROIToT et & Haer 3, ITAN TIAT ST & oo
A. fBvgss |id B. caTge |
C. T Gl D. S&= |lel
64. TATATIT Y ..oovevee wq H g addr B |
A. AATERRIT B. FCEERIT
C. TFAEfHRT D. erarEhET
TR FEd@T TAATATET 9T T HIROT Foldl &
A. 7 B. @re
C. ol D.ATSEIS
66. fAedY # frasr f@fasr &2
A.TH B. 2l
C. diet D, 9L,
67. URAS WieT Siel AR &1 HEg HIROT FT &7
A FTET WAl Gelel B 13 gicx
C Har &anor D IS Gefel

68. 3T9TAISE el BN T TG I T AT F4T 76T 87

Aafzr‘iﬁagagﬁrré?rr%

B il gwt Y aehe T aRTRAT §

C i Tg &% qdiaoi gt &l HRUT ST §
Dwﬁﬁ:saﬁagawﬁmmﬁm&wm%
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69.

70.

s

72,

73,

74.

75.

76.

Th

78.

How many key characteristics of a municipal sanitary landfill are there?
A. One B. Two

C. Three D. Four

Which one of the following is the prime fuctor towards soil pollution?
A. Soil erosion B. Floods

C. Dumping of industrial wastes D. Using land for irrigation

What is the pH range of effluent after trt-:.;.tment‘?

A. Between 4.4 and 5.5 B.Between 4.8 and 6.1

C. Between 6.8 and 7.8 ' D.Between 7.8 and 8.3

What is the full form of NAMP?

A. National Air Quality Monitoring Program

B. National Air Quality Measuring Program

C. National Air Quantity Monitoring Program

D. National Air QualityéMunitoring Protocol

When did the National (f}rccn Tribunal Act constituted?

A.2000 . B.2005

C.2010 D.2015

What is the full form of ‘AAS’?

A. Atomic Average Sysj_tem B. Atomic Absorption Spectrophotometry

C.Average Atomic Spe{é:trometry D.Air Absorption Spectrometry

Suggest suitable analytiécal instrument for non-volatile solutes.

A.GC B. HPLC

C. Both GC and HPLC D.None of them

Spectroscopy deals with interaction of electromagnetic radiation with matter. What is

the speed of this radiation in vacuum in m/s?

A.3 %108 B.5x10

C.7x108 D. 6 x 10°

The disease ‘byssinosis’ is assaciated with which type of industry?
A. Textile and cotton mill B.Gold Mine

C. Ceramic industry D.Sugar mill

Which factor is responsible for generation of different type of ions in ionosphere?
A. Water vapour B. X-rays
C. Gamma rays D. UV-light
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69. 79 Tifereht FeredT ofsfher Hr fancel Fgcayet favward &

A TH Bar
cd= DER
70. 3@ FeNUT & fraAtai@d # & Pl A1 WE FRE g7

A T &TC0T B 91
C 3tenfave arafRrser fr sfifar D g & fore a1 a1 3uirer aet
71. 39EW & °1g wag & pH IS @ &

A 44 3T 55 F &= Ba.a&ﬁ%saé_ﬁﬁr

Cé68 3 78 & & D?.sams.s%afﬁr

72. NAMP &7 QU &9 &7 §?

A. National Air Quality Monitoring Program B. National Air Quality Measuring Program
C. National Air Quantity Monitoring Program D, National Air Quality Monitoring Protocol

73.v@ﬁmﬁﬁuﬁﬁmﬁﬁmmrmﬁ§3m

A 2000 B 2005
C 2010 D 2015
74.'AAS' &T QU &9 4T 7
A. Atomic Average System B. Atomic Absorption Spectrophotometry
C.Average Atomic Spectrometry D.Air Absorption Speblrmnetry
75. et drerger wfoge & folw 3qYeRd [ARRTOTTeHs ITHIOT F G |
A GC B HPCL
C GC 3R HPCL &t D 3o | #1g e
76. TIFERT Terd & Wiy faegd geaha AT @ dctane Far &) e mis # 59
fafenror &1 oifg =7 &

A.3x108 B.5x 10

1% 1 D.6 =10}
77. Sy SRARAATE e g & el @ 9 87
A T R A Ao B o8 Agel
C fafAs e D ==t fAe
78. HAAERRAT & AT g6k F 38T & 3cuea & v sl @ sre FAer &
A Sier arsq B uerg-fargor
C AT faheot D UV-yehrer

........ TS 3ASh gy R\t

24


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

79.  The measurement of specific substances in the human body, usually through the

analysis of blood, urine, breast milk and tissue samples are Known as .................

A .Chem-monitoring ' B. Sample testing .

C. Biomonitoring D. None of these |
80.  What happen to Biochemical Oxygen Demand (BOD) in a river water?

A.Increases when sewage gets mixed with river water

B. Remains unchanged when algal bloom occurs’

C. Has no relationship with concentration of oxygen in the water

D. Gives a measure of salmonella in the water

T Fn ¥ & 7 ST ST 8
A &H-AffefEr B T TIaToT
C sTasfEeRT D gemel & S o aTel

0. 50 % e 3 AT Ao R (@) & da &
A woar ¥ o WaeT wEr F ael & @y A g S @

B T 3ceTel eot e & ar yafafdia Ear &

C ureht @ 3itaionT 1 s & W B Hew e

D 9l 3 ATeATAT H1 AT aarel &
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81.
81, 3 3ufire e & fav Stg diezifadr efSemor i samer # Y|

82.

SectionB: 12 marks (Each question carries 4 marks)
gRT 12 3 (9SS e 7 4 3F B §)

Explain biotechnologicul approach to solid waste disposal.

total, permanent and temporar:” hardness of water in any water sample.

sz.mmﬂﬁmﬁmaﬁﬁemﬁmwﬁﬁ%ﬁ#ﬁ?ta@#ﬂﬁgﬂm
mmmmww@mmwﬁﬁzmé
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What do you understand by complexometric titration? Explain a method to estimate the
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83.  Discuss the possible mf..“;thnds for sampling of gaseous pollutants.

83, KT i & Y & P G A o
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Section C: (8 marks) s WY (8 3)
84.  Plastic' recycling and plastic degradation are same or different process? Comment. .
Explain plastic waste management in detail. e

84, Colfeee amsiEeraT T Celfted Raduw WA A1 3T wfEhar & ool o
velfted Fuse wEue i fEaR & e #i
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